SINGAPORE CHINESE GIRLS’ SCHOOL (PRIMARY)
PRIMARY 2 MATHEMATICS
TOPICAL TEST 5 (MONEY)
ANSWER KEY ‘

Name: ) ( ) - Class: Primary 2 .

Section B

9.  After spending $366 on food and $180 on transport, Linda had $299 left.
How much money did Linda have at first?

$366 $180 $299

A

4

?

$366 + $180 = $546 or $366 + $180 + $299 = $845
$546 + $299 = $845

Lindahad $ 845 at first.

10.  Alice had $230. She had $36 more than Benny. _
How much money did Alice and Benny have altogether?

Alice $23 $36
? altog
Benny ? more
$230 - $36 = %194
$194 + $230 = %424
Alice and Benny had $ 424 altogether.
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11.

Mangoes are sold at 3 for $5.

How many mangoes can Tina buy with 3 ten-dollar notes?

M| M| M M-| M| M M| MM
A R R
M| MM MIM|M MIMI|M
3x10=10 — L -
30:5=6 $5 $5 $5
6x3=18

Tina bought _18 _mangoes.

12.

Doris bought 3 mugs and 7 bowls.

Mug - $5 Bowl - $3

(a) How much did Doris spend in all?

3x$5=%15
7 x %3 = %21
$15+ %21 =%$36

Doris spent_$ 36  inall

(b) Doris paid the cashier a fifty dollar note.
How much change did she receive?

$50 - $36= $14

She received $ 14 change.




SINGAPORE CHINESE GIRLS’ SCHOOL (PRIMARYY}

PRIMARY 2 MATHEMATICS
TOPICAL TEST 6
UNIT(12) : FRACTIONS

‘Name:_ . - ( )
Class: Primary 2 SY / C/G/SE/ P/ GR Marks: |/~ 10
Date: _ Parent’s Signature:

Section A {2 x1 mark)

For each question, 4 options are given. One of these is the correct answe

Make your choice (1, 2, 3 or 4) and write it in the bracket provided.

1. Which of the following fractions is the greatest?
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2. What fraction of the figure below is shaded?

(1)

(2)

(3)
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Section B (3 x 1 mark)

For each question, show your working and write your answer in the spaces
provided.

3. Look at the figure below. Colour % of the figure.

What is the missing fraction in the box?

Answer:

5. What fraction of the figure below is not shaded?

\

_

N

Answer:




Section C {5 marks)

Question 6 carries 2 marks and question 7 carries 3 marks. All working must
be clearly shown in the spaces provided.

6.. Sam cut his birthday cake into 10 equal pieces.
He ate % of the cake and his father ate % of the cake.
How many pieces of the cake were left?
pieces of the cake were left.
7. Mrs Lim cut a pizza into 12 equal slices.

Her son ate 3 slices and her twin daughters ate 2 slices each.
(@) What fraction of the pizza was eaten?
(b) What fraction of the pizza was left?

(a) _ of the pizza was eaten.

(b) __of the pizza was left.
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EXAM PAPER 2013
SCHOOL : SINGAPORE CHINESE GIRLS’ SCHOOL (PRIMARY)
SUBJECT : PRIMARY 2 MATHEMATICS

TERM : TEST6 ( UNIT i>)

Q1] Q2

4 1

Section B

Q3) rm

Q4) 5/9
Q5) 5/8

Section C

Q6) 10/10 — 2/10 = 8/10
8/10 - 3/10 = 5/10
5 pieces left

Q7) a) 2/12 + 2/12 = 4/12

4/12 + 3/12 = 7/12
b) 12/12 - 7/12 = 5/12
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